v built a palace in
Narmaul

b was the Diwan of Mughal emperor,

Shahjahan.

(A) Birbal

(8) Rai Mukund Das

(C) Rai Madhav Das

(D) None of the above

2. Kalaam-e-Nairang is a compilation of poetry
written by
(A) Syed Ghulam Bhik
(B) Murari Lal Sharma
(C) Allama Muhammad Igbal
(D) Altaf Hussain Hali

3. Surajkund International Crafts Mela, a
colourful traditional craft festival of India will
be held every year during the month of
(A) January (B) February
(C) March (D) April

4. Five years ago, Nuri was thrice as old as
Sonu. 10 years later Nuri will be twice old
as Sonu. Find the present age of Sonu.
(A) 20yrs. (B) 10 yrs.

(C) 12yrs. (D) 15yrs.
5. In a photograph, Shyam is to the left of
-p Madan, Mary is to the right of George,
Karim is in between Shyam and Mary. Who
is at the corner ?
(A) Shyam (B) Mary
(C) George (D) Karim

6. Wimbledon Tennis Tournament being
held every year in which of the following
countries ?

(A) USA.
(B) Australia

(C) England
(D) None of the above
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10.

12.

13.

14.

in

[A,' ha“tm)’ﬁ Div Id
tuc"‘“w as will be he

(B)
(C) . onasi

Which
)

?;E;tern-em 2 fl‘3'||Ir:n.|||rjn;;| is a mathematical
) s 2re8 number
"eh off the fan

C) 6i
(D) |Ettsmae“gﬁ;ural number

ln Ston"tachl the

T —_— .0 me nverts
DFOtalan into peptides. nzy cOl

(A} Dlastase

B) Mal W
(C) Urease ED% P:pt:iie ©) ecx @
”f(x)=(§062x+seczxthan 11. ﬂﬁf{ﬂ=c(:azl+5 ®) fx)=1
(A) f(x)<1 (B) f(x)=1 < &9 He = y<2 (D) t=2
(C) 1<f(x)<2 (D) f(x)=2 Ly aanma?-l:lﬁt?

St HH A
Which of the following is not correct ? J; 3 : —y (B) cosd = A
{AJ sing = _% (B} cosh = 1 {A} 51“9‘ = 5 D mnﬁ =20
1 (C) see9=3 &
(C) seco= (D) tand =20 T
istheonly | 13

A heritage museum in
surviving steam loco shed in India and

houses some of India’s last surviving steam

locomotives.
(A) Bhiwani
(C) Jind

India’s longest tunnel recently opened in

(B) Rewari
(D) Kurukshetra

(A) Jammu Kashmir
(B) Punjab

(C) Haryana

(D) None of the above
In the series, 64 1 2287421

T‘;Ff:l@-




19. If A and B are two sets, then A (AuB) =
(A) A (B) B
(C) ¢ (D) AnB
20. dance is performed during the long

21,

32018 (3)

18. Two idantical capacitors 1 and g are
connagled |n serlas to a battery As phowrn
In Migure. Capacitor 2 contains A dielectrlo
slab of dielectric constant K. @, and Q,
are the charges stored in the capacitors.

Now the dielectric slab 8 ramoved and

the corresponding charges ara (G, and Q,
then
[ e
1 2
=
Q; K+1 Qy K+1
A =L — -
(A) a K ® 8, " 2
Q; K+1 Q) K
3] ks e s P
(C) Q, = 2K @ &, 2
17. LetP(n):2n+1<2"n¢ N then n is
(A) =3 (B) =2
(C) =23 (D) =4
18. was the founder of Vardhana
dynasty.

(A) Harshavardhana
(B) Vishnuvardhana
(C) Pundravardhana
(D) Pushpabhuti

wait for the bridegroom to bring his new
bride home.
(A) Dhamal
(C) Gugga

South Asia's first Ro-Ro ferry service
recently inaugurated by Prime Minister in
which of the following States 7
(A) Maharashtra

(B) Guijarat
(C) Andhra Pradesh

(B) Rasleela
(D) Khoria

fo

(D) None of the above

T LU LY

o far 1 PETY, SER

| fre 1wl
) U a1 -
el Al i1 wraem i 8! A ,ﬂﬁ'l'; 7 1 ity
T 'luujqq, .t LARS " L

i”[q;ﬁr‘-‘". "‘"\

o O,

foraet
srfrat # T wmam AR

— kLl # ah une oA OF

{} '.‘I\
LRE

- ¥
'.E 1
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17) AARPBEP (N):2n+1 €&LN¢ NT
(A =3 B) =2
cy =8 (0) =4

15 ek H o HEATTE 41 |
(A) wdadA

(@) g
(C) Ggav
(D) g

19. ﬂﬁA#ﬁBﬁmt,‘!‘ﬂ Ar(ALB)=
s (A A @) B

) &
5 BT A A A R

n —

% v fr s

(A) T
(C) Tm

s i e e e ) v -
ey P o o e

&)




(o]
va nat,“Ution which lays
"Nciples of State
lE"‘IaﬂOnal PEHCB

% the above
itys 2 following is Not a National

derg calendar
“NGetic Polphin
Oka trge
ONe of the ahove

Preadshg g files
€Xxtension

24,

are generally stored with

(B) .xsl
(D) .xls

Section 360 of IpC deals with
(A) Kidnapping

(B) Theft

(C) Murder

(D) None of the above

25,

rl_ 26. Who s famous with the name of Haryana
+ Kesari ?
(A) Pt. Neki Ram Sharma
(B) Devi Lal
(C) Bansi Lal
(D) Bhagwat Dayal Sharma
27' " l+1 maans |_|' i means .+.I .x. maans |+1I |+l
means ‘x’' then value of 5 - 35 + 5+ 40 x 10
is equal to
(A) 20 (B) 140
(C) -20 (D) none of these
28. was the first Regional Party of
Haryana.

(A) Haryana Janhit Congress

22)

;»,;‘2131315{:-:';:|
i e 9 st R o, T 6
e a1 ST A )
(A) ST 58
(8) Wﬂﬁaaﬂ
(©) =
(D) I T & i A o
23 Freafenfiam if & - uek T e

&

(A'} yiah wa Helet

(B) ﬁmﬂﬁi:"
el pE .
, Ereufie wrEel SrITTE: U R
g F ey vt wie ¥
(A) .doc (8) .xsl
(©) .xcl O) xis
25. |PC %1 SFI=S2 360 TR Haft &
(A) AT
(8) = WooDd %
C) Ee LA
ED; I 1 @ =g 7 A
il

T % "S- '\-QQI-IQ
(A) d. ¥ T ﬂ.r.ﬁ?a Y

L1




wa,

3/2018 (3) 5 3 T AW WA R
29. is the fi e tohave | 29, _—— '
’3“"0"1;1 anwfésptghgibu;;c;ug?ntmused £ qrewit R o i fm s,
Public Grievances Redress and Monitoring I ﬂa aren T R |
ti};at:i?t'ar Pradesh (B) Karnataka A A s i
(C) Punjab (D). Maryana (C) TSI (D)
30.  Pasteurization js a 30. gryelEw § T
(A) Low temperature treatment (A) Fore=t e I
((g)) Steaming treatment (B8) w9 ITEAR
High temperature treatment (C) %9 AT ITHN
(D) Low and high temperature treatment (D) ey sty 3= a9 39T
31+ Alhad Bikaneri was a renowned Hindiand | 31. sreeTs fierid % wA-Am e
Urdu poet of aflt 3¢ wfa 9 |
(A) Shringarras (A) SR H
(B) Hasyaras (B) BT
(C) Shaantaras (C) wIma ™
(D) None of the above (D) 3% H | H13 el
32. Which one of the following i 2. ‘i a5 frfafaa 3 & '
Projoct Tig:r' ?e oflowing is a purpose of | 3 " H 1w A 7 ERe it J
(A) Killing of Tigers (A) IHT R HRAT
(B) Protecting Tigers from illegal killing (B) 31y T A T A
(C) To make films on Tigers (C) =i WfFeRemmr
(D) Putting Tigers in zoo (D) Farfeamen & s wemr -
33. Operating system is a type of 33, ormaifen fiew = '
(A) Application software e (A) Eﬁﬁ*ﬂ?ﬁl 1|
(B) Utility (B) FRfe
(C) System software () R
(D) Language processor (D) ML
34. A survey shows that 63% of the people | 34, T{IE'H'EWUT 'ﬂﬁmﬁ,ﬁ
watch a news channel where as 76 % watch A TG E | STt 7/
another channel. If x % of the people watch A x%ﬁ'l‘ o
both the channels then R
. (A) x=35 (B) x=63
% (C) 39<sx<63 (D) x=39

ame the flat bone on the ventral midline
of thorax. il o
W Coccal (B) Sac




g

37.

41.

2
;;e;?::fmafnmxs - aherd. 20 are white | 37. TREEH ag T & o0 g & 328
5 . How many have both the ﬁﬁ!’ﬁfﬁﬁﬂﬁﬁi ?

A 12 ® 10 (A) 12 ® 10
{18 o Y VY (C) 18 @ 14 .
:;:n: district of Haryana that does notshare | 38/ whemn & wtren e
. k;u_?danea with any of the States or mmmiﬁﬂﬂ“ g%ﬂ%qﬂ‘aﬂ!“
erritory is e
‘g} Sonjpat (B) Rohtak () L 4
(C) Sirsa (D) Jind (©) farn (D)
The Parliament of Japan is called a9, T £ drEe FEE t{B) 2o
(A) Diet (B) Parliament (R D
(C) Bundestag ©) T ©)
(D) Duma
. . S 8 " 9 e\
Cocaine 1S obtained from the plant 40 e, ecal
(A) Erythroxylum coca (A) AT
(B) Papaver somniferum (B) Qe FA T
(©) Cannabis sativa (©) HAfE W
(D) Hibiscus rosasinensis P) e F 2o &
The Directive Principle of State Policy M Wﬁ:ﬁa d-_-_-
underiine philosophy of "
(A) Socialism Ay
(B) Idealism (B) =918 it
(C) Sarvoday (C} S
(D) Democratic centralisation
Choose the correct option to complete the

matrix. —
40 160 ? R d

go 5 20

20 40 10

(A) 360 (B8) 120

(C) 140



sﬂgfﬂ"’ 4 of . whowas South Asia’s first

44 fémam monarch is in Kaithal, Haryana.
(A) Rani Padmini
(B} Raziya Sultana
(C) Noorjahan
(D) None of the above

1

1) i %
45. If —+—=— thenx =

8t 7l 8!
(A) 56 (B) 64
(C) 78 (D) 80
46. Which one of the following is not true about
Rigveda ?

(A) Itis the earliest Veda.

(B) It is complied between 1000 to 1500
BCE.

(C) It consists of hymns Praise of Agni,
Indra and Soma.

(D) Itis a Veda of Melodies and Chants.

47. In a flowchart rhombus symbol is used for
(A) Decision making

(B) Input output operation

(C) Start and end the program

(D) Off page connector
48. Which term of the sequence 2, 212, 4.

is 128 ?
(A) 12 (B) 13
(C) 14 (D) 15

9. The width of a single slit f the first minimum
Is observed at an angle 2° with a light of
wavelength 6980A° is
1A) 2x10°mm

N 0.2 mm

(B) 0.02 mm
(D) 2mm

& ~ feature of object oriented programming

e, S afEon ufivn ® wem _s1.

sy e, e, TR

() T

(B) T €

c) TAE

(o) 72 AT :

B gl =

‘@ TR G718l P e

(A) 56 (B)

(c) 78 &

46.

47.

49.

(A) a%miﬁ%tré‘d%l :
(B) 1000 1500 $aT el < STl FH1 Hehe
B2l

| . -

(C) it i, gz S HIH =Bl S 3 =g
&

(D) =& THT @i T 1 T 9T R
U yaTE W H wHeEgye et % fae
Vg EAT R :
(A) fFfg=m
(B) @ ffe e
(C) ST =1 37w 3R 3 e
(D) AT U e |

¥ 2,22, 4. FIH-A R 128D

Ay

W 12 (B) 134l
© 14 (D) 1‘_$-.‘}'
T T fog A e, aR e =
6980A° A 3 T weh

10T R AT ST & '

(A) 2x10%mm  (E

(C) 0.2mm
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52.

53.

;I:,rf;? M Chairman of AR
(A omen (NGW National Gommission | 8 e At
A RRREEA @ o
(D) Lalitha Kumaram ©) et

None of the abovzngaiam >
As
amper 2011 census, Haryana ranks 9. 2011

ong the State : — v’s Sk

(A) 1 sin 19{;"-}5 ?Ifﬂpopulaunn. A
C i
iy oy 2™ ©
Aruna ranks twelfth in a c ~ 5 48R 3
What will be hefranllnnf;r?:ﬁz Ta:;: ';t Ve o ﬂmﬂ% : (B) 34
(A) 33 (B) 34 ' (A) ?3% D) 36
(C). 35 (D) 36 ©) ﬁﬁﬁ’ﬁm-‘r % &
::?QCh ;r:lo_rt alli:it'."nfs_.‘r data transmission N @ 54. ?%";;wﬁ eS| gatmé?i ﬂﬂﬁ\m% ?
?Regdc? ort &8 7 devices at a very " / % use @ e T

usB B) Ser . D sSCS!
(C; Parallel port ED; Sgéeil gont (©) Wa‘i ©)
Indian saltpetre is 55/ WTO% ®) KNO
(A) NaNO, (B) KNO, (A f*;# O, ) Bma
(C) SbNO, (D) BINO, | @) SbiNUs - Sﬁ
Find two consecutive odd positweintegﬂrs, E‘Ef 3 Ak T S
the sum of whose Squares is 290. '*‘ | tﬁ'} 1 13
(A) 9,11 @) 11,13 'ﬁ-_ '13' =
() 10,11 (D) 18,16 B
President's rulewasﬁrstimpoaedonHﬂryam 5{/ E = gEel S _——
in
(A) 1966 (B) 1967 (B) 1967
(C) 1971 P (D) 1975 o D) 1975
pritam Rani siwach is associated %ﬁaﬂai
which of the following sports 7 LS

) Badminon  (©
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In 2000, Aswini Chowdhary won the Indira
Gandhi Award for Best Debut Film of a
Director at the National Film Awards for the
Haryanvi Hilm

(A) Dhakad Chhora (B) Laado

(C) Phool Badan (D) Jatani

wzo!
a0.

61, is the space left on one side for

stitching and binding.
(A) Justity
(C) Gutter

The Summitwhich produced convention dealing
with climate change, biodiversity, forestry
and recommended a list of developmental
practices known as ‘Agenda 21' is
(A) Nairobi (B) Doha
(C) Johansburg (D) Rio de Janeiro

Sahibi river was called as
Vedic period.

(A) Karnavati
(C) Saraswati

In 1966, Punjab Reorganisation Act divided
Punjab and transferred territory to the then
Union Territory
(A) Haryana
(B) Himachal Pradesh
(C) Delhi
(D) Punjab
Music of Pandit Jasraj belongs to which of
the following Gharanas?
(A) Kirana (B) Agra

(C) Gwalior (D) Mewati

(B) Bullet
(D) Portrait

during

(B) Kumudvati
(D) Drishadvati

Ll T

if, sifdeshy a3 wiamn 67.
?iimwmmﬁm%
o ueeh forea 6 Mﬁﬂﬁ'ﬂ“mi‘%ﬁﬁ

appropriate judicial body In andartofraa |

N Quowaranto
(B) Mandamus

n

L

rtiorar

sptagintiaed

A o
F -
i

Which of the following writs is issued by an | - 66. |




% 67 Wh'hh
'i’h of the
]'-Q" {(g; Kamhmhmm? 67.

© Dhang; pj,. _ Shivalik hills

D] ewat hjyq MO hills
(D) Ghaggar.p,. Aravalihill
o i
| Commic... °f National H : A T

= Ay ssion mugtba % T S

(B) Het'red Chief Justice of High Court n = e

Cot::ted Chief Justice of Supreme ®) % Wmﬁﬁﬁ
(C) Reti S A o
etired Judge of Supre (©) =ré
n’ (D) Ncﬂeofﬂ'}eabova Preme Court (D} ﬁiﬁ ﬁwﬂﬁq
2 69.  Which of the 9 ﬁmﬁiﬁiﬂﬁﬁﬁm
e following poet is regarded 85 fireeA FEA & ¢

ar the John Milton of Haryana ? ) I A EAL

(A) Kashmiri Lal Zakir {B‘ﬁ sy T wel

(B) Altaf Hussain Hali ‘iG) Zzr=E A

(C) Dayachand Mayna (D) 'gﬂ'!i IS <fan

(D) Samartha Vashishtha & gafefa = ﬁﬂﬂw% qﬂ%l‘
| 70. Pollen grains are well preserved as jossils | 70 s—=® =l At

due to the presence of

(A) Germpores

(B) Sporopollenin

(C) Intine -

(D) Microspore mother cell *‘ — —_—

l ﬂ!.

- P

72.

73

While appointing the Prime Minister the

President selects _
(A) Leader of the largest party in Lok |

Sabha |
(B) Leader of the largest alliance in Lok J.

Sabha i i
(C) Leader of the mjoﬁtypartyarm |

In LOkSﬂbha B ,_.'-..I_ . L S I .1'_- "
(D) Leader of the majorty party orllience | g 7 W T
ln Hajya sabha (3 . .l A !‘ s '" ll : nﬂﬂm 'S“‘

If the sum to n terms AP. 1S

5 .m'.'m’lm“ s 3

oiﬂnaapi " ® 2 .";"",-"' '
iR Laedy b

as '

- | e




’:d(..':‘,n |nstitute for Horﬂculturau' Research
[
2t s based in
(A) Madras
(8) Bangaloré

(C) Kochi
(D) None of the above

ording to Einsteins photo
the plot of the kinetic
itted phatuelectronsT_frqm a
the frequency of the incident
traight line whose slope
f the metal

glectric

75. Acc
equation, energy
of the em
metal versus
radiation gives a §
(A) Depends on the nature 0
used
(B) Depends on t
radiation
(C) Depends both on the intensity of the
radiation and the metal used
(D) Is the same for all the metals and

independent of the intensity of the
radiation

he intensity of the

76. Milk sugar is
(A) Lactose
(C) Fructose

77. Sucrose is
(A) Monosaccharide (B) Disaccharide
(C) Polysaccharide (D) None of these

(B) Maitose
(D) Sucrose

78.

In C++,C,, and C, are
fgl functions (B) classes
(C) objects (D) member

79,
SZaggar-Hakm river basin is classified in
ﬂoodparts, where the higher area that is not
ed in rainy season is called

(gl Khadar (Bl Bangas
i ’i; ;sf:if'alar (D) Banjar
" s divid
(A) 1 oy ‘3-(1;?9% remainder is
(C) 12

(D) none of these |

B1.  He was the firs
t Prime Minister of P
and his bi ster of Paki
Who é ? her';h place was Karnal, Harys
. r Khawaja Nazimuddin e
Mahammajcl Ali E s

T‘ -

75.

76.

78.

79-

fead ® |

(A) TEH

©) T e

syreedi 1 T T W, |

s o1 & T TR

1T, smafer foRTO AT 3Ry y Ny

dehiar dar d, Ry

(A) g g A T Ry '

(B) ﬁmﬁﬁﬂmq{ﬁ‘ﬁ

(©) W Hrg T S
i T ot FET R ™ 8

(D) mﬁu@aﬁ%ﬁ‘lﬁm%mm
el § WA ©

24 I B

(A) T B) Wiy

(C) ISt (D) TFm ,t
n’?:hﬂams

(A) TGRS (B) S

© THTE () Fiw, |

c++#,C, 3MC, ¥ -

(A) TR (B) W




82.

87.

Inan
for w?r:'gl,':‘ tion, a student scores 4 marks
for every w rect answer and loses 1 mark
75 questi rong answer. If he attempts all
the nu ONS and gecures 126 marks, then
A mber of questions correctly. I8
(A) 3s
(C (B) 40

S (D) 46

Rajiv Ganghi Thermal Power Station 18
located at

(A) Kalayat

(C) Bahadurgarh
are meant to enter the data and 10
receive output from the main computer, as
they cannot process data on their own.
(A) Dumb terminais

(B) General purpose terminals

(C) Job oriented terminals

(D) All of the above

Surdas is regarded as having taken his
inspiration from the teachings of great
saint

(A) Ramdas

(B) Haridas

(C) Chaitanya

(D) Vallabhacharya

(B) Pundri
(D) Khedar

Given |x— 1| > 5 then
(A) x € (~4,6)
(B) xe[-4 6]
(C) xe (— o0, —
(D) x€ (— oo, —

Assembly languageé

4) U (6, )
4] v [6, o)

program is converted
hine language using

to object code in mac
(A) Decoder
(C) Compiler

(B) Debugger
Bremt e
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English Language
salect the sentence which IS gramatically Wron9 :

89. (A) He had gone !0 the pictures last night.
(B) The man complained that his cycle

had been stolen.
(C) | will come if you i
(D) He will certainly pa
here since morning.

from London last March.
ot cheal.

nvite me.
ss the test.
90. (A) |am waiting
(B) He returned
(C) Take care that you are n
(D) | went to Mumbai recently.

Fill in the blanks with appropriate preposition :

You must be content what you

have.
(A) at
(B) for
(C) of
(D) with

91.

92,
new years

| hope to finish the work
day.

(A) in

(B) on

(C) by
(D) at

U
Se correct question tag for

sentences - the following

93. Let's go out tonight
(A) Shan't we ?

L"J;" | (B) Will you ?

g - (C) Shallwe ?

97.

(D) 3N

(A) Fha g

(B) B2 e F U
(C) witret =hrdf st
(D) @ 93 T AT A

(A) T fugt fordm |

(B) W ferdt foraan oy |

(©) T ford foren |

(D) T @ furd ot et 2 |
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